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10.

1.

IMPORTANT INSTRUCTIONS

(Read carefully and comply)

. OMR Answer Sheet will be provided separately along with Question Booklel

Read complete instructions caretully and fill the details from S1 No. Lo 5 in the Question Booklet and
S1. No.1to 4 in the OMR Answer Sheet. If you Fail to fill the details and sign as instructed correctly, you
will be personally responsible for the consequences artsing during scanning ol your Answer Sheet.

For Section I the candidate has 10 select the Medium of Instruction and choose one of the given options
(medium) to determine the First Language and accordingly should answer the determined Language
Questions only,

The candidate must ensure that the Question Booklet Code printed in the Question Booklet has been
written and filled correctly at the prescribed pluace in the OMR Answer Sheet.

The question booklet comprises 36 pages having 150 questions. Afier being instructed to open the
Booklet only, the candidate will check whether the Booklet contains 150 (uestions starting from Page
No. 4 to 35. Please ensure that no page/guestion is missing/mot printed/torn/icpeated. In case you find
any defect anywhere in the Question Booklet, unmediately inform the invigilaor and getit replaced.

In the event of any mistake in any question, candidates will not be penatized, However no corrections
will be made in question/s during the examination.

. All questions are of MCQ (Multiple Choice Question) type. There is only one correct answer to each

question carrying one mark. There will be no negative marking for wrong answer.

With each question vou will find 4 possible answers marked by the letters A, B, C & D. Read each
question carefully and find out which answer according 1o you is correct. Indicale your answer by
darkening the appropriate circle completely in the OMR Answer Sheet corresponding to the question,
For marking answers use black hall point per only. Gel pens/pencils are not allowed.

Wrong method : Correel method :

wWRONG |1 wronGg 11 wronG b CORRECT

VOO AOCH VOO0 HOO®

- £

WRONG

OO D

bEce

Rough work, if any, may be done in the Question Booklet only in the space provided at the end of the
Booklet. Do not tear it off from the Question Booklet. No additional paper shail be provided.

Use of Log Tables, Calculator, Slide Rules, Mobile Phone, Pager, Digital Diary, Electronic Watches
with facilities of Calculator or any other electronic item/instrument cle. is not altowed. Their use will
result in disqualification.

OMR Answer Sheet is designed for computer cvaluation. If you do not follow the instructions given
above and shown in the OMR Answer Sheet. it may make evaluation by computer incorrect. Any resultant
loss to the candidate on the above account shall be of the candidate only.



- The Capdudatos are to take their scat immediately after the opening of examinaiion hall,
- Nocundineis shentd leave the Examination Hall before the final bell.

- The Question Booklen, OMR Answer Sheet and the copy of the Admit Card (Duplicaie ¥ Acknowledgement
Reeeipi should be hunded over together to the Invigilator betore leaving the Examination Hall.

- Anexaenle s illustrated below of how to write and £l in your own details -

(i) Assume your Form No./Roll No. is 039479218, und you have selected the tollowing detail in point
nos. 2, 1 & 4 respectively of the OMR,

(11) Question Booklet Code issued to you is KVA and your OMR Answer Sheet No. is 01234567

(1) Medizm of Instruction - Bengali

You are reguired to write in the boxes and {ill in the bubbles as shown below:
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SECTION-—II
Language-1I—English

Mark correctly the synonyms of the following words:
(Q. no, 31 & 32)
31. ahbhor
(A) simplicity (B} boast
(C) abstract (D detest

32, conscientious
(A) scrupulous (B} rchellious

(C) mischievous (D) ridiculous

Mark the correct arrangement of the following words
as these would appear in the dictionary, from first to
last: (Q. no. 33 & 34)
33.  {i) receptacle
(ii) reception
(iii) receptionist
(iv) receptive
(A (1), (ii). (1ti), (iv)
(Cy (i), Gv), (), (iD)
34, (i) precipitate
(ii) precedent

(B) (i), 1), (iv}, (D)
(D) (v, (i), gi), D)

(iii) precision

(iv} precious

(A} (iidy, (1), {iv), (i1} (B) (i), (iv), (i), (iid)

(Cy (b, (i, (i1), (iv) (D) (it} (), (iv), (QiD)
Mark correctly the plural forms of the following words:
{Q. no. 35-37)

35. cactus

(A) cactuss (B) cacti

(C) cactu (D) cactis
36. corpus

(A) corpusses (B) corpora

() corpos (DY corpori

37. appendix
{A) appendixes {B) appendices

(C) appendiexes (D) appendieces

Read the following passage to answer Q. nos. 38to41:

The man who perpetually hesitates which of the two
things he willdo first, will do neither. The man whoresolves
but changes his resolution at the first counter- suggestion
of a friend. who fluctuates from opinion to opinion, from
plan to plan and veers like a weathercock Lo every point of
the compass, with every breath of caprice that blows. cian
never accomplish anything great or useful. Whimsicality
and vacillations are the bedrocks on which the edifice of
failure is constructed. Nothing worthy, nothing fruttful is
horn out of a mind that is like a ship without a radur, drifting
aimlessly on the high ocean of life. Itis only the man who

firetconsults wisely, thenresolves firmly and then executes
his purpose with in flexible perseverance, undismayed by
thase petty difficultics which daunt a weaker spirit. thatcan
advance to prominence in any field. The course is to be
taken wisely and firmly. Once taken, it has to be pursued
with heoric resolution. With indomitable spirit and
unquestionable dedication to the purpose. one can conquer
the urnverse.

3%, With firm spircit and proper dedication, the universe

¢an be
(A1 won {B) lost
{Cy sold (D) hired

39, The course is to be taken with
(A) wisdom and hesitation,
(B care and thoughtless action.
iC) brayery and whimsicality.
(D) firmness and wisdom.

40. In the passage, an iudecisive man is compared to a
(A) wall clock.

(C) compuss,

(B) magnet.

{13) weathercock.

41. One can advance to prominence in any field if one
(A) thinks only.
(B) only resolves wisely.
(C3 anly pluns tu execute the purpose properly.
(133 resolves, consulls and executes properly.

Mark the correct spelling [rom the options given below:
(Q. no. 42-44)

42. (A) rejuvinate {B) rejuvenate

(Ch rijuvinate (D) rejuvencte
43, (Aj assimilate (B) asimillate
{C) assimillate (D) asimilate
44. (A) apalling (B) appalinng
+C) appalling {D) appaling

Read the following passage to answer (. nos. 45 to 48:

Whega children develop their mother tongue, they are:
simultaneously fostering u whole host of other essential
«kills, such as critical thinking and literacy skills. It is this,
ckill-sct that take with them into formal education, and
research tells us that any skill and concept gained in the
learner's home language don’'t need to be re-taught when
thev transter to a sccond language. Language and mother
tongue also play ahuge roleinthe development of personal,
social and cultural identity. Children with a strong
foundation in their frst Janguage ofien display a deeper
understanding of themselves and their place within society,

22-CXN (Contd.)




SECTION—II
Language-II—FEnglish

along withanincreased sense of well-being and confidence.
Naturally. this flows down into every aspect of their lives,
including thetr academic achievement. In alt education the
primary place should be given to tratning 10 the exact and
free use of mother tongue, Mother tongue is the true vehicle
of mother wit. Another medium of speech muy bring withit
a current of new ideas. But the mother tonguc is one with
the air in which a man is born. Tt is through the vernacular
that new conceptions of the mind should press their way o
birth in speech. A man’s native speech is atmost like his
shadow. inseparable from his personality. Tn our way of
speech, we must . as the old suving runs. drink water out of
our own cistern, for each one of us is a member ol a
community. [t is through our vernacular, through our tolk
speech that most of us attain the characteristic expression
of our nature.
45. Through the vernacular, moest human beings

accomplish

(A} artificiality.

(B) fragmeanted expression.

(C) wrong ideus.

(D} characteristic expression.

46. In education, training in the free use of mother
tongue should be given
(A) secondary place,
(C) tertiary place.

(B) primary place.
(D} intermediary place.

47. A man’s indigenous speech is almost like his
{A) soul. (B) shadow.
(C) pillow. (D) attire.

48. According to the old saying, we should drink water
vut of our own
(A) packet.
(Cj cistern,

(B) tavern.
(D) box.

Mark correctly the appropriate form of verbs that [it
in the blanks: (Q. no. 49-51)
49. Hardly had the girl __ writing, when the
teacher collected her answer script.
(A) had finished
(C) finished

(B} have finished
(D) finishes

50. IfT ___  abird, I would fly.
(A} am (B1 was
(C) were (D) have been

51. He found the book he
[A) has lost
{C) huad lost

(B) was lost

(D) would have lost

23-CXN

Mark correctly the appropriate prepositions that fit in
the blanks: (Q. no, 52 & 33

52. An application was written to the officer in

pursuance the instructions given,
(A} by (B) upun
{Cy for (D) of

th
L]

. The distance of the school __
station is two kilometres.

the railway

) over (B) from

(C) on (D) to

Murk correctly the part of the sentences which has an
error, If the sentences are correct mark ‘D’ (No error):
{Q. no. 54 & 55)

54. Treasure Island is one of the best pirate storigs

(A) (B)
that ever written, No error.
(C) (D)
55. Samir has to trodge gver the
(A) (B)
steep mountain path, No error.
(C) {D)

Mark correctly the change in gender of the following
words: ((). no. 56-58)

56. gander

(A) goose (B) heifer

(C) gandress (D) duchess
57. colt

(A) doe (B) sow

(C) filly (D) ewe
58. protector

(A} protecti (B} protectoress

{C) protectress (D} protectun

Mark correctly the antonyms of the following words:
{Q. no. 539 & 60)

59. sporadic
(A} continuous (B} interval

(C) decent (Dy repel

60. malice
(A) intention (B} benevolence

(€ spite (D) morose

(Contd.)
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6l.

62.

63.

4.

65.

{A)
{B3)
(C)
{

66.
{i)
(iii)
(v)

67.

SECTION—IEL
Child Development & Pedagsgy

IR0 T P
Juit P ETIINR

A child kg 44224 but pet 4=5-2. The child may
be in the stage

{A) Sensotimiotor {BY Preoperation

(C) Concrete operation (I Formal operation

Inclusion of children with special needs

(A} is detimental o children without disainiities.

(B) will increase the hurden on schools,

(C) reguires a change inattitude, contenta nd approach
to teaching.

(D) is an unrealistic gual.

Aecording to Chomsky, an innate capacity to acquire
language is the resuit of our uniqueiy human
bivlogical inheritance, which is called

(A} Language Adaptation Degrec

(B) Language Acquisition Device

(C) Language Acceptance Desire

(D) Language Acquire Domain

By the word “individual” Wocdworth has referred to
(A) human body

(B) human mind

{C) human behaviour

(D) both mental process and physical behaviour

Which of these does not imply practical intelligence
in the Triarchi¢ theory?

Re-shaping the environment

Thinking practically abowt anesell only

Choosing an cnvireament in which you can succeed
Adapting to the environiment

The stuges of SE as per SE teaching-learning nodel are

Evaluation (ii} Eaploration
Elaboration iiv) Explanation
Engagement

The correct sequence of the stages is
(A) (). G, Gid, (i), (v (B) 40 4D, (1), (), (V)
() (v () Gy, GGy (DY (v v, (), G, (1)

In the context of education, socialization means
(A) adupting and adjusting 1 social environment.
(B) always following social norms.

(C) ereating ane’s own social norms.

(D) respecting elders in sacicty.

61.

63.

64.

66.
(i
(iii)
(v)

Lengalt Version
aafs G i $226. 5% @R W 4=6-21 T
Frsree @ &5
(A} ARG
(Sepsorimotor)
(Cy == weri«
(Concrete vperalion)

(B forssiiess
{Preoperation)

(D) A FHTE
(Formal operation)

. Gpew oifzETem faod s giessd

(A) HIzdel fenums wies el SaraT

(B) Famimqre (it 4L GETE

() Freli@p, Faaaias ae =l wahed AP w1 TR |
(1) @2ls BaE =it 1

sl sirs SR cra wiied aF T TS el 24
w1 w Gresifes dvrfea weess, ar =

(A TS Saia el [

(B BT il il fe sl

(C} BRIETAE byarAints {22124

(D) SRS Sl Loie]

Twemid “individual” 4157 war TS
(A) FELe

(B} W&

(C) afes e

(D) TAE A Gl e e

. %A Triarchic 5 SRl a7 3f% e ffalee cae

e gm

(A) TR ofaaly LIl (FET

(B) <FNTHe ol Shleldl ARHE T

(Cy @ oz (e sone 43 7% Sl fordiua @t
(D sifarerala s ull1 e

SE, mrsrera 5K e ferprea waeh o ¢

FETITA (Evaluation) {ii) srgee (Exploration)
sragArEe (Flaboration)  (iv) A (Explanation)
fufE (Engagement)

wagleE wis A 7

67.
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(A) (), b il Gvh iv) (1), (i) G, (v (v)
(Cy v G .t (L v (), i (11}, (i)

farmra foifdry ARNEdraad o=

(A T Al A TiEmsa ¢ Fs ol |
(B) FRHNE HAderd: W (il T

() s T wratiea s oy w1

(D) FRme ArEith < Ewl |
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(i)

(ii)
(i}

69.

70.

71,

72,

73.

74.

(A)
()

75.

76.

SECTION—III
Child Development & Pedagogy

English Version

Stages of developments are important for a teacher to
produce a comfortable environment for teaching
and learning process

68.
it

Bengali Version
fepre @ra aww firmren g wwend
et @ ferazera sivrwre sifia s corT T

(i) <P Py (3 g T TR 2 @ T © AR TG

know and understand the problems faced by a child (i) Frea wow ST cnsrEe o FAF
establish an effective communication with the child T ® Toaryfem wy cew B R (A, B, C, D) #ifad
Which set (A, B, C, D) of the above statements is FergtarcTa o= oAt e
suitable for effective teaching? (A) 8%l (i) (B) WEWE (ii)
(A} only (1) {B) only {ii) (C) (i1 € (iil) T2 B (D) (). (1) € (ii)
(C) Both (i) and dii) (D) (). (1) and (iii)
A student modifies an essay in the book and then 69. Bfﬁ el 42-aa FoeiTes By sifiaen FA A =T |
memorizes it. This is a process of— g ﬁm T
{A) Adoption (B) Organization A) ;XI]EWJ ) (&) Tt(fgﬁ?lk:‘ '? )
Cy Assimilation D) Accommaodation duptiog AT on
( Ol &8 N (©) =i (D) ST
{Assimilation) {Accommodation)
Educational Characteristics: Messuring devices: 70. treers tafgs e SAfdTretz Berm 3
(a) achievement (I) Examination (a) ~frEwhrey (1) #3rs
(b) learning (11} Assessment (h) Fire (1) SRS
(c) interest (D Interview {¢) =merE (ITI) AFEIRFE
The matching pair is— 3
‘ A LG
(A) @) (I (B) (&) (D A =
(©) (©) (D) DY 1by () (A) (ay (I {B) by
) ‘ (C) (M (D} (b))
Which one of the following skills should be stressed 71. fware @ wrete webesi o Remeng Raom
more for mentally under-developed children? T Gl ¢
(A) Life skills (B) Adaptation skiils (A) Siga LR ] (B) wferaie WHFSIT
(C) Communication skills(I») Numerical skills (C) csicals] weepmEm (D) Alors FEEPTZ
Teaching of Geography and History of Murshidabud 72, AT s g BfEsm ey Y, e @
may be meaningful, quick and interesting if TEEAUSTE S TG 2ra
conducted together by an approach of (A) cuefefise (B) WeeH owfs
(A} play way (B} corrclation (C) TrEs szl (D)t 2=
(C}) induction {D1 story relling o '
Gender is a/an 73. Frwew 9
(A) physiological consruct (BY innate quality (A) rff?f”-_{i}?,‘gg; et (B} ZEI57S e
(C) social construcy (D) biological enlity () Frafed gze (D) Tslige wiey/a
Which one of the following characteristics is not 74. Rwien FeAiaET S AR @
related to organization of co-curricular activities in weTATEy ?
school? _ (A) i amies (B} siowEEE
Educationally relevant (B} Cunstructive (C) =i »cas] (D) =eraIfre!
Demoeratic atmosphere (D) Non co uperation
In the case of learning Law of Readiness corresponds to 75. Hrarea ota ergfed aibe wna Avgapotef &=
{A) schema {B) motivation (A) & (B) =3l
(C) stimulus (D) response (C) THo= Dy =fsfem
‘Cockroach is not bird’. Starting a lesson on bird 76. ST i w0 9% S nfis Tem oww oy v
with such negative example was discovraged hy TAGEHAT FGTE IR oF €arT ey sraferew
{A) Bruper (B) Piaget (A) ST (B) formms
(C') Skinner (1D} Biner (Cy Freta (D) ferm
25-CXN (Contd.)



77.

4.

79.

80.

81.

(A)
()

82.

SECTION—III
Child Development & Pedagogy

English Version

Which one of the following is best suited for

emotional development of children?

(A) Democratic classroom enyironment

(B} No involvement of the teachers as it is the task of
the parents

(Cy Controlled classroom environment

(1)) Authoritariian classrootn environment

A teacher always helps the students so that they can
relate the knowledge acquired in one subject with
another subject. It helps in

(A) individual difference

(B} lcamner’s independence

{C) distribution of reinforcer

(D) correlate and iransfer of knowledge

In teaching process student’s performance is
(A) dependent variable (B} independent variable
(C) intervening vadable (D) control variable

The cephalocaudal principle of development
explains how development proceeds from

(A} differcntiated to integrated functions

(B) head to toe

(C) rural to urban arcas

(1) gencral to specific functions

Sufficient number of questions are set on the same
concept in a test. The test is

achievement type (B) diagnostic type
prognostic type (D) criterion referenced type

“Right to Education Act 20019" has its main objective
to ensure each child in 1ndia 6 to 14 years receives
quality education. The term quality education means
(A} Use of costly TLM

(B) Rote lzarning

(C) Establishmen! of relation hetween classroom and

real environment
(1) Imposed discipiine

_ Four MCOQ questions L, IT, Ill & IV are correctly

answered by 05%, 20%, 50% and 85% of students
respectively. Other things remaining same the hest
question is
Ay 1

(Cy 11

By N
() v

26-CXN

Bengali Version
7. Esfitis @m REmb Fegsranas {amea & FRIHCH
BTl AT AN ?
(A) EmTEd sfere 1 SfETa
(B) (army «fi fererae el i3, femmas (aiae B o A
(C) Frfire ifferss #faee
(D) cxfsrss TAatsral o

8. wﬁwﬁwﬁmmmwmwmﬁ
ﬁﬂwwﬁ?’smwuﬁaﬁﬂmwémvmm
#i7a | @af% RBE T
(A) @D AR
(By Pl it
(C) et Bl HATANE
(D) ST Q3R WIER HARE

79, T effeam femdra sraea 30
(A) FETA1E 73 {13) HHEA 5
(C) =41% 55 (D FiyE ve

80, 3= cephalocaudal 72 2L fazm wigefs 2rm
(A) fafew (s wafae Qi e
(B) WL LRI ST SigrEid fars
(C) T (AT <L AFTBI fara
(D) AR (2 fvers anfiadia fue

81. 35 wS=m 4% e v e e ) werwl I
(A) STERDEE ZrEF (B) fodnz wdms
(C) oAy wEw (D) 25 (FTEmIe U

g2, “frmr sty TEA-2009" 6 (AT 14 1 Y TG
faryg Ty Beaele! wirg o firm ot om0 |
o4 i TeaHol 9IS (ARIW
(A) TR . 97, 4599 T
(B) g% fFar
(©) ez ATy @I weme ) TR A TS
s

(D) sifPrE cremt =

<

83, 1, IL, 11 @R IV &% 5B MCQ @3 oy Af3a SRR
wewal 2 gA TRE 03, 20, 50 @R 85 | s
(A) 1 (B) T
(Y Il (L 1V

(Contd.)
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(i)
(i)
(iti)

(iv)

86.
(A)

(B)
()
(D)

87.

88.

89,

90.

SECTION—III
Child Development & Pedagogy

English Version
According to social constructivist theory of Lev
Vygotsky, which of the feliowing methods is
appropriate for assessing students?
(A) Standardised tests
(B} Fact-based recall questions
() Objective multiple-choice type questions
(D) Collaborative projects

Some statements about children:

Children are passive recipients of knowledge
Children are problem solvers

Children are interested in scientific investigation
Children are active explorers of the environment
Which set of the above statements is correct?

(A) (i), (iiD) and (1v) (B) (i), (i1, (iii) and (iv)
(C) (i), (i) and (iiD) (D) (i), iy and (iv)

Questionnaire refers to

a device for securing answers o questions by using a
form which the respondent fills in himsclf.

adevice for collecting questions from many individuals,
a device for collecting response from class-work.

a device for developing various questions.

Learning Assessment is purposeful if

{A) it serves as a feedback for the students as well as
the teachers.

it is done only vnce at the end of the yeir,
vomparative evaluations are made 1o differentiate
the student’s achtevements,

it induces fear and stress among the students.

(B)
()

(o)

With reference to the gifted learners, ‘acceleration’
means

(A) accclerating the procoss of thair assessment.

(B) accelerating the trunsaction of their scholastic
activities.

promoting them to the next higher grade earher
than normal lewmners.

speeding up their co-schotastic activities,

(@)
(D}

A collection of a student’s work in an area showing
growth, self reflection and achievement is known as
(A) assessment (B} judgement

(C) portfolio (D) cumulative record

Though ealculator gives the result of multiplication
easily, we teach children to caleulate manually to:
(A) maintain tradition of teaching

{B) verify the result of multiplication

{C) develop creativity

(D) develop thinking & reasoning

84,

85.

(i)
(ii)
(iii)
{iv)

86.
(A)
(B)
(€}
(D)

87.

88,

89.

90.
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Bengali Version
oralall RAREAT YR T BATa ¢
(A} =msliEe wim
(B} TwefelEs wpras sy
(C) e efadion; epradh
(D) Frrailareimaie 2oy

a1l v vt S ¢

Freat @ e aioe

ferazr T wiTear

Firsat Rwmerte areae g

oAt wfirareta s spraed

Rrmrditwe oo Sfeafm sy @@ ol Bae
(A) (ii), (iil) €42 (iv) (B) (). (i), (iii) @42 (iv)
(C) (i), (i) 9= Gib) (D) (i), (i) 4<% (iv)

oo =

Q35 AF AATA B 24 0 N T @ B s o |
G WG T S (10T g (T 2] Heay 4] B |
<36 T T W (el e T Bad TReg a1 73 |
GG wE T w fafun e oes sz

4T TS SR A ag Te

(A aff Bemf o formrad Froans’ Soi@ =5 a0z

(B) 4fb <u=T (1w 9xar wig A T

(C) £ oI TR W Ten S vl
A1) F |

(D) &5 wrazdnrs Wi vy o birsig 7% 509

sfeeram Rmmdimea ffare ‘acceteration’-92 o

(A) €I TmIed »wfe eefie =

(B) ©TFT #1HmTY SRS S OEie o)

(©) Aretles FERdiom (9o S Beim oofits G s
41

(D) O Ngetawtin erfied weey 41,

i@l FEe 9t Wz T gzl fm o
P T 3, - efefey a3z $fes ot o e 3=
Ex)|

(A) Fo7Ew
(C) ceiirrfae
G T TR S 9L A AW, T3¢ e
M- @ (I A

(A) Frem &fem T@m a

(B) o789 wergs I157% 39

(C) Ha=*wmera fex

(D) f5e ¢ Theg faam

(B) fastamas
(D) e=e afy
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SECTION—IV

Mathematics
English Version
91. Simplify:
EE T &
LT I LR A 0 T U N A DO AT S
(9*1’1)[9_*?1_1}1+(_11+‘1"3)(1j*713 _9_)*(,1'3*@)('1_.1*97&
11 T ‘ 11
9711 1" 13 1370
(A) O (B 6O

92. Find the sum of the following expressions:
e FLATHTHS (AT 8 ?

Bengali Version

(Chr 4 oy 2

s 3 33 5§ . 3 5122 3.3 8§ 5 5 3 8 (2,3,5,2.3 3 @S
(3"3 3"5*3"3—2"3"z]~(3 S*s"i‘ﬁ"z”"g"a) (5“243"?*5*& f,"a)
611 27 .23
(A) 500 (3 ) () 0 (1
! (RN (R
93. 0.1 S . I —
6,3, 3 Ixnroais
511 0.1 (=011
0.1 01 01 0.11
(A) §6v033+3 (B) 5ovte6+3 (O FErnati (D §37066-3
94, 2 men and 3 boys can do 3 of a piece of work in 94, 2 &a A e ¢ 3 & TS SR a0 FITED

6 days: 3 men and 5 boys can do %3 of it in 4 days.
In what time can a boy do the whole work?

(A) 12 days

(B) 24 duys

(C) 36 days

(D) 48 days

:J []

95, ‘A’ can do a piece of work in 12 days and ‘B’ can do 9
itin 18 days. They started the work together but ‘A
left 3 days before the completion of work. *B’ finishes
the remaining work. The total number of days to

complete the work is

(A) 8 (B} 9

(C) 6 (3

96. Simplify:

A FheA 3

(!Xlilx]+lxl) {lx—l—+1)(l—\!xl) (1X1+]-Xl'|'l>(

878 877 717 3 777773 3 3/ _\3 3 3 8 §
) (= S IR R e )
3 8T 3 3 Si\8 7 3 713

(A) 153 B o

97. ABCisa triangle. AP is perpémlicular to BC. BQ s
perpendicular to CA. CR is perpendicular to AB.
AP, BQ and CR cuts at 0. ZRAC = 40°, then ZBOC

— ]
(A) 807 B 1407
(Cy no® (Dy 4

28-CXN

%EWGWHWﬂﬂ;SWﬁ‘ﬁWH}%GSW

T 4F T ;{% e 4 Forrm oo 309, 9FT AT

TS TALH 82 F(G HoAH 473 ?

(A) 12 W=

(B) 24 Fs

(C) 367

(D) 48 e

a3 15 A", 12 furr @3z B, 18 Wre (=19 SIS AR |
St aFTE FEH o €@, Fg Tl om e 3 e
s CA” FE o0y 5rA W) s S BT o w0
0 TS (<8 Tre 4 fq enaa e

(A) & () 9

) 6 {3

61

© 705

(D 1

97. ABC fagrea AP, BC aiea 5% o719 | BQ, CA-a3 T94F

w71 CR, AB-a2 To@ &4| AP. BQ ¢ CR s@ O
famre czv SR LBAC = 407 WA LBOC =532
A 8S0° (B) 140°

(Cy 110° (D) 40°

(Contd.)
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99.

1640.

i01.

102.

103.

104,

SECTION—1V

Mathemetics

Exglish Version

Answering ol questions *A’ gets 32. For a correct
answer he has been awarded 5 marks and his marks
has been deducted by 2 number for each wrong
answer. Again if he has been awarded 4 marks per
correct answer and be deducted 1 mark per wrong
answer, he gets 28, How many questions are there
in the examination?

(A) 14 {By 10
(C) 1o (D) 12
Simplify:
HAT EPT ¢

98.

Bengoli Version

‘A a3l s Hew ey Tow fira 32 wwa CHTHTE |
aﬁr%%wamsmcmﬁmsﬁfaﬁw@w
T 2 W99 AV crewl grag | uiw ofe’ B Saras v 4
A (R6T 7 o3 AfSl oo Teraw oo | Tew A oreT
T, BT AT 1Y T T 281 AW G e Hedp
T2

(A) 14 (By 10

() 16 {1 12

5.25(5.25x5.25 - 307 x1.58) + 3.17(3.17 x 3.17 — 1.58 x 5.25} + 1.58(1.58 x 1.58 - 5.25x3.17)

5.25(5.25-3.17)+ 3.17(3.17 - 1.58) + 1.58(1.58 - 5.25)

(A) 1
101061.01011=

[ i !
HHIGO0 1 10000+ ¢ —— . 1, 1
(A "TUOD0 SN0 b s 106000 ' 106

(B) 0

< } 1 !
() {66650 " o600 * To0
There are two sections io a class of a co-educational
school. The no. of students in each section is 35. If 7
girl students of section A po Lo section B, the number
of girl students in these two sections are
interchanged. If 4 girl students of section B go o
section A, the number of girl students of section A
changes 1o double of the actual number of girl
students of section B. The number of boys of section
A and B are respectively
(A} I8, 1 (B) 24,17
{C) 17, 24 (y 18,27
2,3,5,7,11,13, 17,19, 23, 29, 31, 37, 41, 43, 47, 53,
59,61, 67,71, 73,79, 83, 87, 89, 97 are 26 numbers,
{A) Here all the numbers are prime.
(B) Here all the nunibers are prime except one,
(€) Here all the numbers are prime except two,
(D) Hcre all the numbers are prime except three,

+ 1 HI00 + 100000

A sweeper is appointed in a condition thut he will
receive wages of Bs. 8§ per day for his work, but if
he will absent, he will not receive any wages and
will be fined Rs. 10 for that day. After 30 days he
has received Rs. 1140. How many days was he
absent?

(A) 9 days (B3) 5days

(C) 4 days (D) odays

‘A’ can do a piece of work in 20 days, "B can do it in
24 days and *C’° can de the same in 30 days. They
agrec to do the work in Rs, 5,400 and they start the
work together. But ‘B’ leaves the work betore 2 days
of the completion of the work and *C’ leaves the work
before 5 days of the completion of the work. ‘A’
completes the remaining work. What amount has
‘A’ get for the work?

{A) Rs. 2700 (3 Rs, 5400

(C) Rs. 1.600 (D) Rs, 2,600

101.

102.

103,

104.

29-CXN

(C) 10 (I 9

| 1

_ i
() Q0T+ g T 100

1 i | .
Ll i N o1 (
(i 100000+1000+]00 1+ 1000+ 130000

9 SiRiFges e aaf cofine 1 fem A e
B-aifslbre wasi@ Awt 351 7% A Fremem 7 o w9,
B Fows o sra A ¢ B fwem ss A wwe awe
A | AR A% B RonsE dem 515 A Mo ww, sige
A faeiem ef@iwen B feam 5o widveas Hod 51
JUFR A 8 B [Fenss govin o=

(A) 18,11 {8) 2417

(Y 17,24 () 18,27

2,3,5,7,11, 13,17, 19, 23, 29, 31, 37, 41, 43, 47, 53,
59,61,67,71,73,79, 83,87, 89, 97 @=icn 26 15 5yt
(A) maRhE (T

(B) 90 A% FaSGE (D

(C) w5 anw A3 cnfers )

(D) oo am 594l s,

GFEA AGRE 92 piete e Tm o, @ fw o Wiy
&3, 1 ez wgfa 50 ot wa v R o e o
wroifEs ATa o1 o wgfa ot AET T w10 5 %A
wiaar five are ) 30 i o o7 1140 5191 oste 1 o) afim

s fem e
(A) 9 fam (B 5 W
(C) 4 fam (D) 6 Toel

‘AN BT 8 O oTTH xS i nanew 20 T, 24 Tom e
30 ol o FTS AmE ) T FEG 5,400 T FEre
G S A9 S SFACH T oF w45 (3 = o
2oTE 2 o @ieer B 43 e o/ emE S fuw @
fC WG (TS BUF A | AME WG AT o0y B | Stz
FTTH TAF T A’ B B HTFL

(AY 2,700 G5 (B) 5.400 Giaw

{(CY 1,600 5 (11 3.600 b
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109.
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112.

SECTION—IV
Mathematics

English Version

The distance between X and Y is 270 km. At 9 am
‘A’ starts from X towards Y and ‘R’ starts from Y
towards X. The speed of A and B are 50 km in an
hour and 40 km in an hour respectively. When shall
they meet each other?
(A) 1lam.

(C) 1 pm.

(B) 12 noon
(D) 2pm

{7-00 l—-l}(7-001+3)(7-001—2)(7-00 1-6)+96=
(A) (7-[)()1—5](700&4—2){(7-0(}1}1+3x7-[)0]+6}
() (7-00l+5)(7-0()1+2)[(7-()01)3ASX7-[]()1~6}

The perimeters of a rectangle and a square are
80 ¢m each. The difference of areas of square and
rectangle is 100 sq. cm. The sides ol the rectangle
are

(A) 35cm, 3cm (By 32

(C) 30cm, 10cm (D} 28 cm, 12¢m

1213 and 1231 are two numbers.

(A) First number is prime and the second is composite.
{B) Firstnumberis composite and the second is prime.
{C) Both the numbers arc COMPOSILC,

(D) Both the numbers are prime.

A person starts from A at 6 am. towards B and
reaches at B on 10 am. Another person starts from
B at 8 am. towards A and reaches at A on 11-30 am.
When shall they meet each other?

(A) 745 am. (B) B-26am.

(Cy 856 am. (I 8-40 am.

The numbers 7*82, 83*9, 147* are divisible by 9.
* marked numbers respectively will be

{A) 2,3.5 (By 4.2.8

() 0.9,2 (D) 1,7.6

In a triangle ABC, AB=AC=20 cm. ZBAC = 307,
What will be the area of the triangle?

(A) 200 sq.cm. (By 150 sq.¢m.

(Cy 100 sq. cm. (D) 50 sq. cm.

o @

038 __

37_01‘+ 3_7'02 + §7_93 +(B D+ +(0.3)

\as™ ) 25”7y A28 T
01 o2

i w nEgy ATy T
(E—ﬂ.lj (2570.2] ('zg‘“--”J

(A @1 (By 0.2

J0-CXXN

Bengali Version

105, X 72 Y- vy 279 fafil) s 958 A, X (0 Y-&F
frre 092 B, Y (T X a7 ferds (ATs o o0 | W A 4R
B-ag sferast aarzrs wHw 50 f3f gae v 40 &l
oH, A FUN $WA AL TWA?

(A) wEF 1T (B) o[ 1250
(Cy weiE 15t (D) we@ 26

(B) (7-001-5)XT-001+2){(7-001=3x7-001-6)
(D) (7-001 5)(7-001-2){(7-001y-3x7-001-6)

107. aﬁmmmeammmﬂﬁﬁmsomﬁa
FSETIT (TEATA € WUSTHRLAY (FIFER oftdF 100
st | SR dedfia twd =
(A) 35 cAfa, 5 AT (3) 32 oifiT, B oif
() 30 7w, 10 @ (D 28 fE 12 G

108, 1213 432 1231 §f6 AL
(Ay meam yia 2alb oifae w1 szl (iR
(B Fieent wie A2l il @@z sEad EF=)
(C) wexp Wi (s
(D) weal 7% i

109, QWWW@W,AWWBWW
Taw T W 1051 B-c (Heet | 9 9% GiE TS
SﬁNBWE%;\WW?GﬂIWWHﬁ
10 RS A e (FEm | Swe TN WEe TA?

(A) F4TE 751 45 Bl (B) e 86726 .
(Cy »EmR 851 56 f. (D) === 86140 fl.

110, 7+82, 83+9, 147+ sl 9 am e 20, * e
st AAaT T
(A) 2,35 {B) 4.2.8
(€) 0,9.2 (D) 1,7,6

111. ABC frsrom AB=AC=20 {1 ZBAC =307 |fagwiha
CEITA & ?

(A} 200 25 (B) 150 +fr=ta
(Cy 100 45t (D) 50 T
: 37
o 3 il
(. (1) 7
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117.

(A)
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118.

119.

120,

SECTION—IV

Mathematics
English Version Bengali Version
AB and CD ar¢ two chords intersecting at X of a 113, O (%W w38 AB @ CD wyt 7% X e cmw AT |
circle with centre (). Then BISTA ST
(A) AX . XB=CX.XD _ ~
. (A) AX XB=CX . XD
(B) AX. XD=CX . XB _
; (B AX . XD=CX . XB
(C) AB.CD = AX . XD =
D) CX.XB=AB.CD (C) AB.CD=AX. XD
(D) CX. XB=Al.C (D) CX.XB =AB . CD
Of the three different numbers, the product of two 114, &= form weww wra uft w7 fw oo At g
numbers taken at 4 time in order are 42, 84 and 72 AL 42, 84 9 72 701wy Fomfbg At =27
respectively. What is the L.C.M, of the numbers? (A) &4 (B) 724
(A} B4 (By 724 (C} 420 (D) 504
(Cr 420 (I3 304
Simplify:
HAH 96 2
y3. 3 222 3 3 3 3.2 3 3.2 23 3 3
(4*1%4rjxjx3+§x5x5g3xix%xix‘f‘!x:;-%-sxs—-y-s--xi
3.2 3 3 3 2 12 131 3
(4*3*5) L_4"4'+3"§+5"5'
1647 1633 4 1647 1633
A gxan B) 93430 © 95335 D) 7335
L00000-+10000+ 1000+ 100+10+1 + L. L . L 1 1
10 100 1000 10000 ' 100000
(A) TLILT-ELETd (By 1111111111} (C) 11110101111 (D) 10111101104
(l-l}x(l-l)x(l-1)+(l~2)x(l-2)x(1-2)+(1-3}(1‘3)(1-3)-3x(1'1)x(l-2)x(]-3)=
(()-5)x(|-l+]-2+|-3)><[(]-1~l-2)2+(1-2—1o3)3+(|-3—]-1)3} (B) %x(l'I+I-2+l-3)><{(l-!+IA2)2+{1-2+]-3)2+(l-3+l-l.)1}
(U-S)x(l-l+l-24-3)><{([-Iul-2)1+(_]-2\-1-3)3+(_]-3—[-1)2] (D} —,l)x(l~1—l-2+1-3)x{(l‘l—1-2)3+(1-2—1‘3)3+(l-3—|-i)3}
2 2 2 2
(o (o3 o)) o3
(4E)x(429) +3x(429' x 629 .+3x 429 x 629 + 629 x 629
(A} 1x10000+3x1000+3%] 00+ (B) Ix100004+3%x100+3x10+1
(C) 1x1000+1x100+3x 1 0+ (D) 1x1000+3x10+3x100+1
Simplify:
HAS &gl &
0.088x0.088—5x0.088 9x0.088 «0.088 160.099x0.099 _ 3x 0.088 x 0.088 + 4x 0.099 x 0.088
T 3x0088-4x0099 © T 0.088x0088_ 35 ' 0.099x 0.088 + 5% 0.099
(A) 0.099 ' (B) 0.088 (Cy 0.99 (Dy 0.88
Simplify;
RaE T
L.1. 9,9 1.1 8 0% (1,9 1_9 1 9
99 0 10_9 9 10 10%910910xi+1Q
L1989, 9 1,9 o171 9 1 99"
979710 10 9 9 1w 10) Lo 16 9 in) Lig o
81 4
(A) O (B) 100 (C) 1 (D) 2

31-CXN (Contd.)
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122.
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127.

SECTION--V
Environmental Science

Engiish YVersion

Soil washed away by running water is called
fA) Repolith {E) Soil profile
() Eluviation (D) Tluviation

Rita taught her students about Lubercuiosis. The
causal organism of this disease enters the human
body through lungs. Whish of the following is the
causat organism of tuberculosis?

(A Salmonella (B} Mycobacterium

(C) fFungi (D) Closmridinm

. Talking during eating may sometimes lead food

particles to enter into the windpipe. Thereis a flap-
shaped structure that prevents food particles from
entering the windpipe and luugs. This flap like
structure is called
(A) Toengue

(C) Pharynx

(Bt Epiglottis
(D) Glotis

VWhere we get maximum cofton of 1 kg by the help
of Spring Balance at
(A) Pole

() 45° Longitude

(B 457 Latitude
(D) Eguator

Among the following which one is the best conductor
of electricity?

(A) Ag (B Au

(C) Zn ({3 Cu

Ensymes ave seereted from different glands of the
digestive system to aid in the digestion of teod. Which
of the folloming enzymes is seereted by the intestinal
sland?

(A Lrepsin
17y Pryadm

(B Chyvinotrypsin
(I Pepsin

Chandraketugach {now ruins) was formed on 127.
(A) the Iehmati basin
{B1 the Churni basin
{C) the Jalongi hasin
tDy the Bidyadhari basin
32-CXN

121,

124,

126.

Bengpli Versios

T Rl B o i s e b R T
(A) st {13y I (2T
() £xferrse 1)) TEemEe

Fray w14 TEET TR WNIH FEIC | A3 @A AT
AETE T sy sy ard ) fafatye @
Wl AT Tl
(AY ]

(B sErsETES
(C) g2e 2

ST

(1)) BT

. WIGEE ARG FU Asirxl, AT S AECTR TRt

wnnfers pra oty | wefs vrERE wrel Hed iy W@
AT RIRHE o R (T8 TS 414 S 04|
% viwf srma @l 2

(A) Tog (1)
(Cy o=tan

Froofe gama e o fadl ers R Silem A
(A) i (13 JAv T

() 45" Elfanie (1) iazaeed

. frefefag swidufim mon @mifs <fgres w=eemm St

o= v
Ay @7 1) 7
(C) fo (D <l

it 2Afasrs g o Sife ergy ffew afy s
BT Fide w b otn Suassh iy ofg
sl e 7wy
(A) T

1) BT

(B wEmEAES

(1 oeisiEe

VETEBOCEA (A& seET) wige vy ik
(A) Burel Aiag SEailagly

(B §i w8 weeizay

(O mists A siqqifean,

(DY TmedE wE LA
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SECTION—Y
Environmental Science

English Version

Which salt is used in Mid-day Mcal?
(A Nat’) {B) KCi
() My, (D) CaCl,

The medicinal forest helonging to Khasi-Jayantias
In Meghalaya is in
{(A) Cherrapung:
() Shiltong

(B) Moflong
(I3 Haflong

Which of the foltowing would you cite as an exampfe
ol ex-situ conservation being a teacher of
Environmental Studies?
(A} Zoo

() Sanctuary

(B) National Park
(D) Biosphere Rescrve

It takes more time to cook meals on a hill station.
The reason is due to

(A) less humidity

{B) low pressurc

(C) cooking is difficult al high altitude

(D) low temperature

Different parts of plants are used to prepare
medicines. As for example, reserpine is used to
reduce high blood pressure. Reserpine is obtained
from the roots of which of the following plants?
(A) Datura (B} Tobacco

(C) Rauvollia (1) Coffee

. Why on hills than on plain tennis balls bounce

higher?

(A) Less weight of the ball

{B) Nature of surface not plane

{C) Less gravitational pull

(D) Atmospheric state changes continuously

- Onc of the diseases caused duc to air-pollation is

{A} Silicosis
(C) Blackluot

(B) Minamata
(1)) Encephalitis

5. Which of the following is the valid reason for Solar

Eclipse?

(A) Earth between Sun and Moon

{B) Sun hetween Earth und Moon

() Moon between Sun and Earth

(D) In any condition no three are same line

Bengali Version

128. ﬁswﬁmmmmmqummﬁ

129.

131,

133.

134.

33-CXN

{A) Na(l
(Cy Me(l,

(B)y KCt
(D CaCl,

(A oEieffEns (B) W=z
(C} Tolsiz-a (D) =Wz

oG sEwre SwreRe e e o
(A) Tfwar (B) @& Swim
(C) =raums; () FAEtaes s

AEITG A TS (I o =
(A) o0 WFEE T4

(B) =% 677 oW

(C) Bprs T warw =24 =
(1 =9 &=Tag oy

. A ffenmet equ Tefam s arams 70 | cre, B TwHtey

TTE AR A A 2 | P o siree conas
caTraio sthem W

(A) 4354 (B) =raqr=
(Cy Aol (Dy e

& ARG (B 2@ Farg i ey s
(A) 4131 Qg T3 a0

(B) ~rErs TR wwEed 71 A

() ax ufest 7= g

(1) <ARoRY ST7 e weaid 2 20

AL A G @16 (a1 &=
(A) Bl (B) T3
(C) Frewyd (D) Camasziis

. fmeR wen oEwt fe fefw awm)

(A) #4370 e browa TG |
(B) 74 < 5 ¢ #fudig wrRieiE )
(C) 5% 47 5% 6 Affia Wy
() = e T 993 sErmm W Al

(Contd.)
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142,

SECTION—V
Environmental Scienct

English Version

S.1. system of units has

(A) thrce base units and one supplementary unit.
(B) five base units and one supplementary unit.

(C) seven base units and two supplementary units.
(D) seven base units and seven supplementary units,

Given other circumstances constant, the relation
between the level of underground water and rainfall
is

(A} simple/regular
(C) proportionate

(B) apposite
(D) inverscly related

As a teacher of Environmental Studies, you have
shown the pictures of the following animals to your
students. In the list, which of the following animals
is not an invertebrate?
{A) Sycon

(Cy Cuttle tish

(B) Jellyfish
{17) Shark

What is mast desirable way to coatrol soil potlution
and as well as maintain fertility?

{AY Application of Chemical fertifizer

(B} To keep tand fallow for a few years

{C) To apply compost and organic manure

(i) “Thum' cultivation where ashes from trees make

the soil very fertile

The distance between Earth and Moon is about
(A} three lukh kilometer

(B) {our jakh kilometer

() five lakh kilometer

(D) six fakh kilometer

As a teacher of Environmental Studies, which of the
following physiological processes would you cite as
an example of catabalism?

{A) Respiration (B) Nurrition

(Cy Photosynthesis (D Growth

Which metal remains liguid in room temperature?
{A} Sodium (B) Magnesiam
{C) Mereury (DY Lithium

3. The disorder of eye in which distant objects appear

blurry bizt near vision is normzl, is called
(A% Myopia
() Cataract

{B3) Hypermetropa
(D} Presbyupia

136.

138,

139,

144,

141.

142
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SECTION—YV

Envirorunental Science

English Version

The river Ganga is known as river Hugli at

(A} the confluence of Damodur and Bhagirathi,
tB) the confluence of Rupnaravan and Bhagirathi.
i) ahe confluence ol Haldi and Bhagirathi.

(D) the confluence of Ajay and Bhagirathi.

Which of the following diseuases is caused due to the
poisoning of mercury present in soil?

{(A) Trai-itai disease {B) Minamata disease

(C) Dyslexin (I Albinism

One liquid non-metal is
(A) Mercury
(C) Carbon

{B) Bromine
(L) Sulphur

147. Jan 26, 1950 is celebraied as the Republic 1ay

148.

149,

150.

because on that day

(A} India gut her freedom as a separate country.

¢(B) India and Pakistan were treated as two separate
countries.

(C) Indian Constitution was granted as the country’s
own law system,

(1) Juwaharlal Nehru became the first Prime Minister
of India.

Shreya noticed that her mother's nails have become
spoon-shaped. She s Feally worried. This condition
may result from:
(A) Cholera

(C) Fever

(BY Anaemia
(D) Malaria

Why did Afsana Khatoon receive the presidential

felicitations on May 14, 20097

(A) She discarded her own chitd/juvenile marriage by
protesting publicly.

(B) She protested against unlawtul child labour.

AC) She saved a juvenile girl Iron being attacked by

BCHOIS,
() She got a sexual motester arrested by the police.

Galaxy is actually
(A) the trunsitional day between Krishnapaksha and
Shukiapaksha.
(B) the scasonal boundaries.
C) the effects of rotation,
) anassembly of a lot of stur-worlds including solar
system.

144,

146.

147,

148,
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Bengali Yersion

sPI R s wsifer SR sney

(A) TEE g s T wime ferg |
(B oy e Wit e R |
(Cy @i B a% aFine o+ e

1Y) A el o

Fre MAT Ty

feraferfars cam carsf® wifte Eoifge siarwe Ralmal corg
£

(A} 351 Eotd s (13 s o
(0 Rt () sarAfeieem

QFH TAR GYly T
(A) A= 8y rati

(C) =rde

(1 Hwhrg

1950 7T 20 wiprfars wumeeg as' «ifas o s

azfim (ors

{A) wlaEa »Hlgg fuos Sreple (emaleet |

(B Siredd & wfhai o w9 ot Remd #fasfr
wrafes

() onesi3 fermen wiEmtate nra Sigoad w@sm mefre
oifEE |

(1) efrganfa =ox duemi wefuem dfos sy
[Tk |

A AN BAH @ T wwEw wHafE vrn wgfen zm
tolre | o8 wraa {BTEs1 OF S F ATE wrw ANT P

(A) et (B =t

(¢ we (D) TimEfas

T AIGA 209 AT 14T 3 (I S Argeifia

GrEm) (AR Y

(Ay Tz amiiag Sre v mfisrsa affem 504

(B) fersmfiapm s=imreld o0 sy Roerm afeqn
ATAT ST |

{C) g7 i o seres Tre cares Flbafersa

(D) ge Fafugsad wifoe of sl frafeem i

. B ggEeTE

(A FHBwE o el S [arwet 97g |

(B) =hefb wagy A s 4oa

(C) 4T AL wpstred O 77 |

(D) (T Tee a0 Sareg STHe <IIE AR o

< |




ANSWER KEY OF BOOKLET CODE : CXN

LANGUAGE |
BENGAL! HINDI ORIYA TELUGL NEPALI URDU SANTHALI
Q.No. | AnsKey { Q.No. | AnsKey | Q.No. AnsKey | Q.No. | AnsKey | (.No. | Ans Key Q.No. Ans Key | Q.No. | Ans Key
1 A 1 B 1 A 1 B 1 D 1 B i D
2 B 2 B p C 2 C 2 C 2 C 2 D
3 B 3 C 3 C 3 C 3 A 3 A 3 C
4 C 4 A 4 C 4 C 4 D 4 B 4 C
5 A 5 C 5 C 5 5 5 G 5 C 5 D
[ A 6 D 6 D & C & A 6 A 6 D
7 B 7 C 7 D 7 A 7 C 7 C s B
8 C 8 C 8 B 8 C 8 & 8 D 8 D
9 A 9 D g A 9 C S B 5 D 9 C
10 D 10 A 10 C 10 D 10 B 10 C 10 C
11 A 11 B 11 A 11 D 11 D 11 C 11 C
12 C 12 B 12 C 12 C 12 A 12 D 12 A
13 B 13 D 13 C 13 D 13 A 13 (& 13 B
14 A 14 B 14 D 14 C 14 A 14 D 14 D
15 C 15 A 15 D 15 A 15 B 15 D 15 C
16 C 16 A 16 C 16 B 16 A 16 C 16 B
17 A 17 C 17 A 17 D 17 1) 17 ] 17 A
18 B 18 B 18 C 18 C 18 g 18 B 18 D
19 C 15 A 19 D 19 C 19 D 19 A 19 D
20 C 20 D 20 B 20 A 20 C 20 C 20 A
21 C 21 D 21 B 21 D 21 B 21 D 21 C
22 B 22 A 22 B 22 C 2 C 22 D 22 A
23 B 23 B 23 C 23 C 23 D 23 B 23 D
24 D 24 B 24 D 24 D 24 B 24 C 24 A
25 C 25 D 25 B 25 £ 25 A 25 D 25 D
26 A 26 B 26 B 26 @ 26 B 26 C 26 C
27 C 27 D 27 C 27 C 27 D 27 C 27 B
28 B 28 D 28 B 28 B 28 o] 28 A 28 B
29 D 29 C 29 D 29 A 25 A 29 A 29 8
30 A 30 B 30 D 30 v 30 C 30 A 20 C
CHILD
LA;\?(;’:S: . DEVELOPMENT & MATHEMATICS ENV!:;':&EENTAL
PEDAGOGY
Q.No. | AnsKey Q.No. Ans Key Q.No. Ans Key Q.No. Ans Key
31 D 61 B 91 B 121 D
32 A 62 C 92 A 122 B
a3 A 63 B 93 C 123 B
34 B 64 D 94 D 124 D
35 B 65 B 95 B 125 A
36 B 66 C 96 B 126 A
37 AorB 67 A 97 B 127 D
38 A 68 D 98 D 128 A
39 D 69 C 99 C 129 B
40 D 70 B 100 C 130 A
41 D 71 B 101 C 131 B
42 B 72 B 102 B 132 C
43 A 73 C 103 [»] 133 C
44 C 74 D 104 A 134 A
45 D 75 B 105 B 135 C
46 B 76 A 106 B 136 C
a7 B 77 A 107 C 137 A
48 C 78 D 108 D 138 3]
49 C 79 A 109 C 139 C
50 C 80 B 110 D 140 B
51 C 81 B 111 C 141 A
52 D 82 C 112 D 142 C
53 B 83 C 113 A 143 A
MARKS ON
ca c g4 o 114 A 142 ATTEMPT
55 B 85 A 115 A 145 B
56 A 86 A 116 B 146 8
57 C 87 A 117 A 147 C
58 C 88 C 118 D 148 B
59 A a9 C 119 A 149 A
60 B 30 D 120 C 150 D






